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bc-ad 1
w = ;+- ~

cz+d
. . . . (6.2.3.2)

(w -WA (w2  -- w3)-= (z-z1)(z2-4
(w-wd  (w2-w,) (z-z3)  (Q-Z,)

. . . . . . . ..t

Gmami’i’~whtFi

(6.2.3.4)
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w-w,)(w2-wj)  =(w-WJ)  b-w,)

WW~-wW)-w,W2+W,W~ = ww2 - ww, - wtw2 + wjw,

w(w, -wj)-wwz(wI  -6,)  =o

(w-ww2)(w,-wj)  =o

Mi w, # w3 K&A w =w2

rwx-h (w-wI)(.w*-wj) = (z-zA(z2-zd
(w - w,) (w2 - WI) (z -z,) (z,  -z,)

mt w - w,) (5 - w,) = (z-z,)(z*-zd
(w' -w,) 6% -w,) (z-4 b-z,)

6& (w-w,) (w2 - w,) = (w’-wd  (w, - w3)
(w-w3)  (w2--WI) w-w3)  (wz-w,)

w - w ,___ = WI-W,

w--w2 WI--w3

.:a
uum wh - w,i  - w’(w,  - w3) = 0

az+b
f(z) = w = -

cz+d
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9in (w  - WI)  (w*  ~ w3)

(w-w31 (wz-w,)

(w-w,)  (l- :)

(w-w31  (I- z)

do w2 = 00 PZGi !9
W2

mus~uP~rb 3
w--w1

= (z--z,)(z2-z3)_

(z-23) k-z,)

= (z-z,)(z2-z3)

(z-z31  (z2-z,)

= WI  =()

w2

= (z-z,)k-z3)

(z - z3) (z2 - zd
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8inm.m~ W-W,- = (z-z1)(z2-z3)
w--w) (z  - z3) (z*  -z,)

UYlWil
w - i (z- 1) (o+ 1)
w - l (Zf 1) (O-  1)

w - i Z - l-=
W - l -(z+ 1)

( w - i ) ( - z - l )  =  (z-l)(w-1)

- w z - w + i z + i  = wz-z-w+1

-2wz  =  - z + l - i z - i ‘

w =
( l+ i ) z+( i -1 )

22

22-5&0fh TlJMl~@l@l~~  (fixed or invariant points) 91091713~9  w = ~
z+4

22 - 5%vl”~  ~~~~sP979~~innia~~~~~nia  z = ~
zi4

arid z2+2z+5  = 0

Z = -1k2i

oLdAwm  ym5mmnia$.ms  w = -l-2i

Lwalrh sin z = sin x cash  y + ices x sinh y

br w = u+iv  = sin z

a:% ” = sin x cash  y

bEi’, v = cos x sinh y
Y

%aiaminiadsslasP6~u  sin z @?.A

&ih u = sin c cash  y, v = cos c sinh y PEK
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2. afPaazn�pl y q = c , O<X<R

7&G u = sin x cash  c  , v  = cos x sinh c
\\
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-coshc < u < 0 ttflt [VI $ lsinhcl

A .’
B C

0 I 2R

%l a-t? z = z+;

1; s = [(x,  y)/  -l7  Q x Q 0, y = 0)

fnf.J~8  Z L’IIBI  S qniJ%.h%  T  &I  - z 6 R e  Z  G 5 LLK Imz = 0

M w = sin Z = cos z

bib +4x<;, y = 0 d&

-1 d sinx < 1, cosh0 = 1, sinhO  = 0
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